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(ftvy) 7 X 5 4+ 3 X 2 (1) 12 = 2 X 3
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(5) 90 — 50 = (4 + 6)
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(1) 5X (14—9) (2) 24—12+4
5X%X5 = 24-—3
25 = 21
(3) 8X (6—4+2) (4) 18X (14—6) +6
8 X 4 = 18X8+6
32 = 24
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() 130X24+150%Xx1+30Xx4=530
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(1) 32x 25 (2) 2.5 X 27 X 4
= (8 x| 4 ) X 25 27 X| 2.5 |X 4
= 8 X (| 4 |[x 25) = 27 X 10
= 8X 1 100 5 7
~[ 800 ]

(3) 105%Xx15 = (100 + 5) X 15

— 100 X 15 + 5 X 15
= [1s500 ]+ 75
1575
(4) 99x9 = (100 — 1 ) X 9
= 100 X9 — 1 X 9
= 900 — 9
891
(5) 14X 7 4+ 36X7 = ( 14 + 36 ) X 7
= [ 50 | x7
= 350
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(1) (4 O 3 ® (2 O 1) = 1

(2) 4060 3 ® 2060 1 = ) {%275§4,5,6,7,8,9}
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(3) (4 O 3) R 2® 1 = 3
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